MUON TRIGGER DEFINITION IN

ALPACA
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IMPLEMENTATION IN ALPACA

e Use HF trace: better time resolution (8ns sampling) and covers
a large enough window (~2 us before the germanium trigger)
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(1C2 (OINC

[DENCE

e Distribution of deltaT (considering all the triggers 1in
the window)
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(1C2 COINCIDENCE

e Select only one trigger in the

full window:
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(1C2 COINCIDENCE

e Select only triggers 1in
(-200,800) ns

Se76 data, ~34 h exposure, ge-det 1
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(1C2 COINCIDENCE

e Select events with one trigger
in C1 and C2 (-200,800)ns window
around ge-trigger le6

e Select events with
|deltaT (C1-C2) | <100ns 41

e Define the muon-stop trigger 2
time as twsUm:(tC{qu)/Z
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COC3 ANTICOINCIDENCE

e Require that there is no trigger 1in
CO in *100 ns from t _ -> small
M—-stop
impact
e Require that there is no trigger 1in
C3 in 100 ns from t . -> huge
p-stop
impact
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SPECTRA WITH DIFFERENT TRIGGER

Se76 data, ~34 h exposure, ge-det 1
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CONCLUSION

e (C1C2 coincidence trigger: select events with only one

trigger in Cl1 and C2 1n
ge—-trigger

(-200,800) ns from the

e Select |deltaT(C1l-C2)|<100ns and define the muon-stop
trigger time as tu_stop=(tC1+tC2)/2

e Anticoincidence trigger
|deltaT (u-stop-CO) [<100
interesting gamma lines

e Anticoincidence trigger
|deltaT (u-stop-C3) [ <100
interesting gamma Llines

with CO:
ns has small impact on the
-> use for the trigger

with C3:
ns has huge 1impact on the
-> try to not use 1it!
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